5.67 =5+ 0.6 +0.07

1673 =1+  |+007+[ ]

@0.6,0.003 @ 0.6,0.03 ® 0.6,0.3

@ 0.6,3 ® 0.6,1.003

1.673 = 14 0.6 + 0.07 + 0.003
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(=}




(1) 0.6 +0.7 (2) 0.8+0.4

D (1)03(2) 04 @ (1)0.3(2) 1.2
@m13@12 ©1)13©2) 14

® (1) 1.3 (2) 04

(1) 0.6 +0.7 = 1.3
(2) 08404 =12




56 O
5@ =9+ m 54+0=0
® 56,56,112 @ 56,5.6,61.6 ® 56,5.06,61.06

@56, 0.56,5.56 ® 56,0.65,5.65

56 56
5m—5+m—5+0.56—5.56




5.

Oa @, ©°f 5012 ¢ 52 AUz & A& A=A L.

5.434 - @ - 5.436 - © — 5.438

@ 5.425,5.427 @ 5.434,5.436 (@)5.435,5.437

@ 5.434,5.435 ® 5.235,5.237

0.001 9] zF& 2] =27t 14 AP Y.
& = 5.434 + 0.001 = 5.435
© = 5.436 + 0.001 = 5.437




5 50] A2 W 7o) 4 9 RS DEAS
0.88 0.35
(1)
0.49 0.67
(2)

@ (1) 0.51 (2) 0.28
® (1) 0.52 (2) 0.28

® (1) 0.53 (2) 0.28

@ (1) 0.52 (2) 0.18
@)(1) 0.53 (2) 018

— AN =
SEsE

(
(

ol Af

O~
A 22 Wit

1) 0.88 - 0.35 = 0.53
2) 0.67 — 0.49 = 0.18




(1) 5.789 + 2.981 =
(2) 3.892 + 5.002 =

il

D (1) 8.769 (2) 8.884 @ (1) 8.769 (2) 8.894
® (1) 8.77 (2) 8.884 @(1) 8.77 (2) 8.894

® (1) 8.771 (2) 8.894

(1) 5.789 + 2.981 = 8.77
(2) 3.892 + 5.002 = 8.894




